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1. Carbon dioxide allowances shall be decided as follows:

Total carbon dioxide produced the previous year:



Add 10% if the country is a developed country, if not



Add 20% if the country is developing country, if not



Add 30% if the country is a least developed country.

then
Subtract 300 times GDP per capita

then
Add 30000 times the average (mean) annualized growth, taken over the past 20 years

Working Paper 3.1

Committee:

UNEP

Submitted by: 
People’s Republic of China

Topic:


The Outcome of Copenhagen

1. Carbon dioxide allowances shall be decided as follows:

Total carbon dioxide produced the previous year:



Add 10% if the country is a developed country, if not



Add 20% if the country is developing country, if not



Add 30% if the country is a least developed country.

then
Subtract 300 times GDP per capita

then
Add 30000 times the average (mean) annualized growth, taken over the past 20 years

Working Paper 3.1

Committee:

UNEP

Submitted by: 
People’s Republic of China

Topic:


The Outcome of Copenhagen

1. Carbon dioxide allowances shall be decided as follows:

Total carbon dioxide produced the previous year:



Add 10% if the country is a developed country, if not



Add 20% if the country is developing country, if not



Add 30% if the country is a least developed country.

then
Subtract 300 times GDP per capita

then
Add 30000 times the average (mean) annualized growth, taken over the past 20 years

